variabl

(B) Bar chart

o show the relative | B
e rather than the

. bein AP.If

s 150, 148, 146, .
the total

Let the number:
the average of this series is 125, then
the series will be

numbers in
4 23 (A) 24 (B) 25
(o
LS ( 26 D) 27

a unit of work is

(C) Ratio chart
(D) Histogram sy & (3/ In a certain factory,
\3-5 completed by A, B, C, Dy B in 4 hours,
5 hours, 6 hours, 8 hours and 10 hours
In drawing the histogram of a given frequency respectively- The average pumber of units of
distrjibution on each class interval we work completed per hour is ‘ y i ;‘,Kg’«
(AY erect cectangles  With heights {&k g ¢
proportional to the frequency of the (A) 480 (B) 101 o0 e
corresponding class interval 101 480 b 1(13;?( 22
(B) erect rectangles ~whose height 18 /
proportional the ratio of ~UDE 101 (D) 600 \?‘D
frequencies to the width of the class 600 101
L interval i'
- 4 (C) erect rectangles whose height 18|7. Melative frequency of a class is computed by
| proportional to the ratio of R N
frequencies to the sum of the frequencies (A) dividing the midpoint of the class by the
- ! sample size
{ (D) None of the above (D’\ ) |
. e N [’50‘9 . (B) dividing the frequency of the class by the |
| \9\“1‘ 2 Jo = - midpoint '
7./ When both the upper and lower limits are | (C) dividing the sample size by the frequency 1
% ; included in the class intervals in case of af of the class
of® frequency distribution, the classes are called | (D) dividing the frequency of the class by the ‘
- T . sample size
f)jrc (A) Interval classes gn ~ i‘ |
> =
aib 7 | Qualitative data can be graphically %

j Exclusive classes
) Inclusive classes

(D) Wide classes

2

Tepr ented by using a/an
) Histogram

(B) Frequency polygon

’Q} 20% of the students in 2 school of Business (C) Ogive
Administration are majoring in Economics, (D) Bar graph
15% in Finance, 30% in Management and 35%
in Accounting. The graphical device which can The abscissa of the intersection of 1
be used to present these data is/are ogive’ and ‘more than ogive’ is the
\ (A) aline graph (A) mean
e (B). only a bar graph median W
&W pie chart ‘ (€) mode
(D) ‘othhar ¢ ph and a pi€ chgrs (D) standard deviation ’
76 HA & 0 T&H

-~
) ¢
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R W G giEdHl B guiar 9| 8, d g
fermem v w0 € 2
(A) FH-TLOERY =TE
(B) &9 I
(C) 9T =1
(D) Fa o=
. 2 TS oiaue W Rl fig e swEmr e
E &1 HEd o7 o914 999 &9
W @ T o omd s § freh e
;‘T/ FgERt T FaUe H THERA F
12) i .
(39 B) T Wy A W § PR e
IRERA IR @ aue i deR %
L U % S &
£S°  (© tw dw smm = § ReR du

A P m‘;

1So , - Aoty
V3 el

I

JHANAT IR THERAT & IS & AT
& STt &
(D) ST & & H1$ TE
6 SRETAT §ed % T § 9 SHaus § IR
3n fr= 3 ot it @, @ W @ ww
8 AT R 2
(A) U 9
(B) 3= &t

(C) oafae o
(D) forega =t |
UF FEaEE Y6y Whol & femiial § @ 209
NI, 15% T, 30% w=um 3 359 <@
fouari § wum 9 @ e TR B | 3 Aws
H WD HH 5 o o me gfe w1 @
feran < @ & 2

(A) T TH

(B) *ad ¥ UTH

(C) ad g9 AR

(D) &9 7% 3 g9 A1 Al

e o m;arri 150, 148, 146, ... T, &
A% $8 FEen N AFd 125 ], A 39 F@en

Fa qeATe fomat gt 2
(A) 24 (B) 25
(C) 26 (D) 27

et Sl @ ©, Y, Y, &, € forelt v T
W OFAN: 4 WS, 5 U, 6 U, 8 T 3R
1052 § U Fa & | s gt < 9 st

& 3HE 1 Jraa v fhe @ 2
. 480 101
& o1 ® 80
Iy 202 @
600 101

Bt S i SREwET w1 e e
v foRar sar 8 2

A) = & weafeg W sfoew AR F
fofom w6

(B) = H FRERaT H Aeafg @ oo
HTh

(C) ufted R H T h SREEaT &
faaftse = '

(D) T N IRERaT H gy FHE A
fernfa w6

frger A W TUTERs il I ATH %
9 # yga AT S gehar 2 2 ,gqg

(A) ¥R fa= =

(B) SETAT 98NS {E
() iSiTEd =

(D) &Y TS /’,ﬁ
& v Ao it @ afw s %
qﬁﬁa%gaﬁwmm%?

(A) W

(B) wferent 1

l
(C) wgT® %
(D) e faaem

@
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numbers are respectively

nn+1) n? -1

(A) AR :
n+1 n2+1 o

® == 1 }%//
n(n +1) n?+1 &

(9)) g \ [ \Y
n+l n“-1 <J\—) (%\D
2 e it s *

The mean of five observations is 4 and their
variance is 5:2. If three of these observations

are 2, 4 and 6, then the other two are _ "L
(A) 2and6 Tand7 = S
@) Sandf

(C) 4and 4
If G; is Geometric mean of a group of n;
observations and G, is the Geometric mean of
XX )l,f o group of ny observations, then the
LN Geometric mean of the combined group is

& g e P Y
#%%y CA 'Gn2)n1+n2 :ﬁ,
)

@) i nlmz A \(1/

|
\(
\& = a / \s Yol

2 4
é%g

Y,

i
ng

G 2

o
e s |

X Y
i n1+n w

WV
1
L
¥

b
1

O |G,'.G, i

'EEZGéﬁkﬁ_

@

ol

/

(L

T

S o
In a batch of 13 students 4 have failed. The | 15. The sum of 10 items is 12 and sum of their L
marks of the succe ful st - ents were §1 R squares is 16:9. Then \(t};{va:iance is *
& , 74, 60/and 40, Then the (A) 049 0-25 '
(A) (B) 40 (C) 0:30 (D) 050
41 D) 50 16. | If ¢ is the width of each class interval, then !

the Sheppard’s correction for the third order
central moment is

[mg = 374 order central moment]
2 2
po e v E,
(A) m3 - -I my %B//Ina — ﬁ 1
© (D :
mg b ) mg — — I |
Wl ‘2@ 8

For a distribution, mean = 10, variance = 16,
y; = +1 and B, = 4. Then first four moments

about mean are
0,4,1,1
0, 4, 64, 64

10,16,1,4
) 0,186, 64, 1024

In a distribution, the first four moments from

the origin are 1, 4, 10  and 46 respectwely

Then the nature e of the distribution is
(A) symmetrical and mesokurtic 8 \’J‘fﬁ
negatively skewed and platykurtic

(C) negatively skewed and Ieptokurtic
(D) positively skewed and mesokurtic

7

1

' A’*
2
In a distribution, the coefficient of skewne 3
is 0+5. If the sum of lower and upper quartil

is 120 and median is 40, then upper an
lower quartiles are respectively

-\f1,' (&) 50,70 [\ (B) 60,80
(C) 60,60 \./(Da/ioo, 20
ea.n dewatlon of the number -
~ -
IS % f G -
(A) 5 , 2® 32 “p
it N

De
e A If the standard dewatmn of a distrib@%ion
X 14. If arithmetic mean of two numbers is 12¥’ ‘15 the quartile deviation of the distributi
> 2\ _ and geometric mean is 10, then the numbers {j\, is 2.
MO 2|7 @ s C.® 125 |
3 L'\A !\5 20,5 (B) 13,12 \O E / '
Q:,»ﬂ” :ﬁ? (C) 10,15 (D) 9,16 \JG*)/ 10 (D) 155
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‘ e WL VIR | §
& ‘. “y \1 =
10. 13 fenfiEl & 4 &, 4 %o & T ¥ | www
ferenfoiat & 3% 41, 57, 38, 61, 36, 35, 71, 50
3R 408 | 1 wifedremr 376 fomaen & 2
(A) 38 (B) 40
C) 41 (D) 50 .
11. 99 n VHlow GEASA b W IR yEwm
FHI: AT R ? L
@ Mo+d n’-1 43,%‘)
2 BN - '{J A
n+1 n2+1 ;
T : /\ﬁfﬁf
Wb |
nn+1) nZ+1 /
© W
T g ' 8 ‘
=
u’f D) n+l n?-1 d}’:@
2. i = \6

12. 9T J&7071 1 HIET 4 B SR I TEW1 52 R |
ﬁ gfe 3 @ ff7 A& 2,4 I 6 &, A I A

: Eﬂﬂ%‘?
6'” Y 236 B) 13K 7
(C) 434 (D) 33 5

13. AR TYE n, Y&V T IR 91T G, & 3R TH
> 3 TR n, @V B N A Gy R, @
TYTh THE I VIR AT =T BRI 2

EZ% (Gfl j G§2]“1i“2 \@l
—

Wy

15.

16.

17.

A 4 1
'_ . ‘[ e . -
= ¢t F 2 (fg}\ . b
—To
10 781 %7 AT 12 & SR I I w1 AT
16:9 # | 37T WaTor femaen & 2 "3
(A) 049 (B) 0-26 L \;
“(C) 0-30 (D) 050 Lﬁl’- \\‘:

1

M TS A H AR ¢ B, A FI
Fie FEF e & fou dud T @
[ = T e hezlFr SATepei] .

A

2
(B) ms—rml [-€ 9
5 ;—1&4\1
(D) ma—%ml

' 02
m3 o —4—- my

‘C) m3

et seq & fou mwrew = 10, gEO = 16,
vy = +1 3R B, = 4, A HTEA F g TR T
TG ?

(A) 10,16,1,4
(C) 0, 16, 64, 1024

(B) 10,4,1,1
(D) 0,4, 64, 64

24 W YRY § YW IR A0 AW 1, 4, 10
3R 46 &, T 5 1 wEy TR 2

(A) HHMA AR TEHHFE! ‘/1:"1_
(B) Fooensa: frww ok woewHs 5 6
(C) RvITeHa: fawm oK greepe! ‘T\‘f/gé
(D) o fwm ol wemEEs —

‘ 19. Tt sie7 o S onies 05 2 | AR Few ek
V) R o 3t o TR TEH F A 120 } SiR S 40
-’;)f(B) qunzl2 ©, & - g, @ R AR f=oa wgds wmw: w0
1 Y A % .\ ‘&i:z(’aﬁq
LY N3 e
L 0 L mrny L"g 4P - (A) 50,70 (B) 60,80
¢ O % [Gll G22] /‘9" o1 (© 60,60 (D) 100, 20
{')1' ‘&ffi 1o y® oy ﬂ,/‘/ 20. TN 2,4, 6,8, 10 F1 ATeY fo=we fha 2 2
L o a2 _ g0 A) 5 (B) 32 b
U\/ @) G,". G," |p - = 87 l’—,L | i w3 px
&7 ALY 4
s = "
14. IR 3§ T F GERR WA 125 2 aﬂ-(:;l- ;ﬁ%ﬁmmm@mﬁw? 15 8, df 5ea ﬂ/Lg
U WTET 10 2, d wEImd w4 gt 2 3%; TG fareer foee pe—
(A) 20,5 (B) 13,12 (A) 15 (B) 125
(©) 10, 15 (D) 9,16 (©) 10 (D) 155
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22. | The coefficient of correlation between X and Y
is 0-6. Their covariance is 4-8. The variance of
7~ X is 9. Then the standard deviation of Y is

XM~ uB
=% k.

A, r=1 (B) r==1
48 48 \yﬁ/
B =0 D =+1
(A) 306 (B) 506 ) r D) r
\ﬁe %3 06x9 29. Two random variables X and Y are defined as 3
¥ 4-8 (D) 4.8 Y = 4X + 9. The coefficient of correlation

-_—
—

f sz WK
af %Zgﬁfw
L K

28,/ The two regressioxt\lines are perpendicular to
. each other if

\5‘{ Pearson’s coefficient of skewness is — 0:7 and between X and Y is K\j ¢
the value of the median and standard 1 i il
deviation are 12:8 and 6 respectively. Then A) 1 \\\W“" (B) 3 M) <
the value of the mean is / /% X[
114 (B) 10-14 = ® =
©) 128 (D) 1195 , 2
. The Bowley’s coefficient of skewness lies . L
betwoen /'l 80. If the ranks of n individuals in two
—1and +1 (B) -3 and +3 ) characteristics are in opposite directions,
(C) positge ,in\ly (D) negative only then rank correlation coefficient is equal to
- <
If fhe mean, mode and standard deviation of a 0 \! @{ 2 \ f
N %) frequency distribution are 41, 45 and 8 \ @N : \ ¢
QL respectively, then its Pearson’s coefficient of 1 JN (D) 2 i !
b skewness is . X
Ve
(A) 1 1)3)/_1 V)/\ 81. Ifu=2x+5andv=-3y-6 and regression
. E 2 coefficient of y on &2;4, then the regression
\& /(C) 1 5 1 coefficient of u on v is
b w48 A) 36 B) 2: 7
- For leptokurtic curves B, and v, satisfies () & 24 \
& J
N (By is measure of kurtosis and vy is coefficient ! 36 Dy -24 v (
\ 4 of kurtosis)
\j’\, A (A Be>3,1p<0 (B) By=3,v9=0 82. While computing rank correlation coefficien
'S \/ (C) By<3,vy<0 _(Jj) By> 3, vy > 0 between profit and mvestn-aent for 1';he las
. - : A 6 years of a company, the difference in r
2¥. The angle beztween the two regression lines 13}“\/ for a year was taken 3 instead of 4.
. ified rank correlation coefficient, if it i
alplEe? 99 L gy iR y :
(A) tan7!|% = 21 o 2} //)/ known that the original value of r
c “+0o -
‘_{} L & y Q-,\/ correlation coefficient is 04, is
NN i 9 2 27 Q: X
3} =2 Ty % (A) 01 (B) 02
< (B) tan + Q_'b/
I %x% 5 (D) 08
1 1 7
N c. O o . ; :
) Vs (©) tan!|s r L xy Q\) 4 .33 ultiple correlation coefficient of X; on
1-r° o %+ cyz and X; lies between
3 2 (A) —-1tol (B) —1to0
- d-r ) Ox0
( tan~! |+ y J Stel
B zewyz} ) 0to1 D) -2 to 7
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[ /\@ B Lz 29. ﬁﬁ@%ﬁiﬁxaﬂIYﬁY=4}(+9%W
| ©) 4.; (D) '4; 5§ whanfye e S 2 | X R Y & A
| gEEEEg T 4T B ?
‘ 23, f w1 dwem o - 07 & S MR T @) 1 P @
T 3 g faeeE HE: 128 36 & |1 A 2
HTE T /I a0 ? ) 1 D) +
(A) 114 (B) 10-14 3 4
(C) 128 : (D) 1195 " iT n St @1 e fauda
04, wTIEH dwE Ui FREH R 7 el & 3, @ AR TEEE T
(A) - 13 +1 (B) -33W +3 S B 2 f ,%
(©) Fa@ GHE (D) Hheel HOMHD o g8 : X = [1
I - o e v e, v S RS T SO
i mﬁwm:n,zxsaﬂisﬁ,ﬂ’fw i /‘Z/ e @ \
! ferere ey Tk fepaT BRI 2 :
U (A) 1 B) _l 31. ﬂﬁu=2x+53ﬂ'{v=—-3y—63ﬂ'( x Ty =l
i i ammguﬁmz-&,a‘rvqtumazﬁwo
> e ERCTE .
© 5 @ -7 P @;“k/; ;\ﬁ ==
26, GTREA T B L By T vy e qfE (A) 36 (B) 24 | l{
a@%(ﬂgwmm%afﬂvgww (C) —36 /%7: D) -24 kiD
T B) ? % N
(A) Bg>3,v9<0  (B) B2=3,13=0 32. ﬁwﬁmﬂ’f%ﬁaﬁeaﬁ%m@tﬁw%
(©) Pg<3,vp<0 (D) By>3,v3>0 S R GEEERY TS BT SAfEher w0
o7, 3w Yare % dre o o feer 8 2 g T o % e R A 4 T 3 H
‘ (R & ﬁmw|aﬁa3m%ﬁﬁﬁﬁmﬁ=ﬂ
@A) tan~!|£=" L W?ﬂrﬁmo-4%?ﬁ¢&!ﬁﬁﬁaﬁﬁ
r o ool+o,] me@m’?
2 27 - LP ﬁ@‘
_{ e’ o, A) 01 (B) 02
(B) tan™ |+ 2 "?}
3 %%y (C) 05 (D) 08 @
MY fEa ] 33, X, 3 X, WX, F 7§ Hged T e
(C) tan ‘:il—-lg Gx2+’;y2 =t
: A) -1¥1 B) -1¥0
4| a-r?) oxS
(D) tan {i - Ux%iy% ©) 01 (D) —%%%
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Two dice are tossed. If (m, n) denomgpieal
sample point, and if A={(m,n): nﬁ@s’n =11}
B={(m,n):n¢5},thenAandBare"

"9{) independent

-
N =
S PP
%
@ HP(A)=%,P(B)=%"andP(AnB)= 3

then P(B/A) is 9
37

(B) i

(B) dependent

(C) mutually exclusive

(D) mutually exhaustive

If K toffees are distributed at random ame
‘n’ children, the probability that a child
receive exactly r toffees is

4

K, (a-D%"

@) — K7

K, (n-1)"

@ —F
. oK

K, (K- pE-*
T -

i
36.| A speaks the truth 4 out of 5 times. A die is.
tossed. He reports that there is a six. Whatis
the chance that actually there was a six ? '
ﬁ

4

9

4
1] e
(D) 6

(B) ¥

In a random arrange
word @NGQ\T@ @,
-probability ~ that vowels
together 7 y bz T

LS @766 A\
A =
(D) 5

what is the

always

38. Two random variables have the least square
regression lines 3x + 2y = 26 and 6x +y = 31.
The coefficient of correlation between X and y
is

(B) 05

(C) 025 (D) -0-25

If the regression coefficient of y on x is 3, then

regression coefficient of xonyis

A 23 <3

1
(€ 3 (D) 2

2o |41, A bag contains 30 balls

ent of the letters of the !

oceur |

W\\\’,- ‘
L = .

529
23

) =
¢ 15

&
q)@ A\
37

n G

numbered from 1 to
30. One ball is drawn at random. Find the
probability that the number of the ball is

neither a multiple of 5 nor of 6. @
1 2
A) — =
W(g) 5

(D)

3

1

D —
()10

1
i
| - 396, 15 2°¢y/
Letters are drawn one at a time from a box
containing the letters A, H M, 0,8, TRE
and E. What is the probability that the letters
in the order spell the word THEMOARSE?

2! 1
(A) — B) 91 &%

9! 2
W *®9

W
9! W \o
A o (D) 9! y

2!

Twenty-five books are placed at random in a
shelf. Find the probability that a particular
pair of books shall be never together.

2 wRE Y
(¢ B e
Q(m

(A) (B)

1 ==,

:-(C)_ 26 20X

25

\,#7‘}1' \J Probability of getting 53 Slindays in a
/? 4

! particular leap year is
_ 7

1
:(0)-;7-

45! A and B are friends. The probability that they
have same birthday is
: 2
@ 365

oK
366

(B) =~
(8)

(D)

s e
365 p{
: 3

D) ——
()366

(

(©)
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0L lf")f% ToE s A B
2 i = O e
34 } o IBTen el @ | (m, n) Lot 1 -
T @ Pl et %‘jnm 'qﬁ40' aﬁPT)ls,P(B)_4a?RP(AnB)-5%,
A:{(m,n):m+n=11},B={(m,n):n¢5 & P@/A) 0 F ?
H AR BENE? o _+ = 10 37
(A) A ;:;’)}\'j _ 9 (A) T2 ® I
(B) A 23 37
© T . © = ™ o
(D) TEH 41. @hﬁsoﬁé@%ﬁﬂmlﬁsoﬁm
35. aﬁxzﬁ:ﬁ*n’aaﬁﬁmg%m%ﬁaﬁa mg@%l@ﬂaa@%ﬁwﬁﬁmm
ﬁﬁ%,ﬁ@aﬁﬁ%rzﬁﬁ?ﬁﬁﬁ %Iaﬁzﬁaﬁﬁswaﬁiqé’lsmwﬁ
wﬁgﬁmﬁaﬂ%v L'\)a wmmﬁ"
K, -1 K, (K-1)K'fﬁ3 L)@ % (B) %
A — B ——— . y
n K o — D) =
K (m-r)f M =1 10 : ;
S D) — 42. = fesd § A, H, M, O, S, T, R, E 3 E 3
nk K" ré%ﬁaﬁ@r@mﬁ@%ammmm
36. .xsﬁ@taxwwﬁam%l@mw %lg&ﬁ:ﬂﬁ'ﬂmﬁ%wmmomw
m%lasaam%%em%lsam@ == e sgeht SRR feRa & 2
St dorrerT & o areE Hf 66 SRR 7 5 2 ® X
@ 2 ® = 9!, o =
9 9 © = D) 9! )
5 4 % Y :
© 3 D & 4. @Mﬁzggw%u@%ﬁm%t@%gﬁ%l
37. ‘ENGINEERING' ¥ & sl @ AGESH wwwwq@ﬁwﬁuﬁm
m%m@amﬁmwmﬁ%ﬂ:ﬁ 2° AR
X ifira & i T R T WA 2 @) = ® 2 : Z'{]S’
o : " 25 25 /J\/’ﬂ.
w: W B g © o ® = %
C) — (D) 1 44, ﬁsﬁﬁﬁwﬁqaﬁﬁsaméﬁﬁmﬁm
= : el 2
- 2 s 3xL-ZlL
3s.aaq%ﬁaﬁaﬁagaﬂaﬁmm%aﬁ oy 2 B
3x+2y=263ﬂ{6x+y=31§| x IRy = 7 7 5 . 4
‘ aﬁamﬂmwm? ' (C) % (D) T‘;' :
“. (sl g 0 45. AaﬁtBﬁﬁ‘élmmﬁa@@ﬁqﬁw
._ (©) 025 (D) -025 v B R feRe & 2 Q—ﬁ)(l 2 2/
; g9, afY x Ty F1 GHIHAC TOH 3R, @ y®W= = . e K {7 13
| gD T feRa I 2 ‘ @ 365 B 365 e L,
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In a Hurdle race, a player has
10 hurdles. The probability that he

each hurdle is 5/6. Then the probability that (A) difference in stratum means is smaller
£ he will knock down fewer than 2 hurdles is (B) difference in stratum means is greater
§ 5 10 10 (C) difference in stratum standard deviation
7 a ,-S— *‘(33 3 (g) ‘,LB{ 2 (g) N . is smaller
( 4 9 X (D) difference in stratum standard deviation
g\10 g0 is greater
(C) 3 [—J D) 2 [_J i
5 5 : A city is divided into 9 zones. To conduct an

a binomial distribution consi:
5 independent trials, the proba
1 and 2 successes are 0-6 and 0-3 resp
Then the mean is

Yk
) 3

jee==
/a’ B) 2
B3 L (D) 4

The interval (1~ 30, 1 + 30) covers
(A) 5% area of a Normal distribution

(f’) 99% area of a Normal distribution
(D) 1% area of a Normal distribution

random variables with mean 2 and

normal with mean and variance respectively
(A) 2and 3 (B) 6and3
(C) 2and 1 (D) 6and 1

about the origin is 12. Then the parameter is
(A) 2 (B) 3
(C) 6 ) 12

£

The probability that a man aged 50 years will
die within a year is 0:01125. What is the
probability that of 12 such men at least 11
will reach their fifty-first birthday ?

(A) e%135(0.135)
(C) e0:135(1-135)

(B) e!35(1-135)
(D) e136(1-185)

4| simple random sample without replacement if
(B) 95% area of a Normal distributio S

Let X; and X, be two independent normal |

variance 1 and 2 respectively; then X, — X, inf

In a Poisson distribution, the second moment |

el

52. Gain in precision of Neyman’s allocation is
more over proportional allocation if

- opinion poll, 4 zones are selected using simple
random sampling. The individuals in the
selected zones determine
(A) Stratified sample

Linear systematic sample
i ) Cluster sample
(D) Simple random sample

ar

54, A systematic sample is more precise than a

{ Sisy : mean square within systematic sample

s?. population mean square}

(A) Sfmy>s2
\ =
® 82 <s2 B &f -S>
w 5c|(g‘) ¥
© s <5’ e
! fﬂ)‘ - E

' (D) 1:18:,“:-(11—1)82

|85. A book consists of 200 pages. Then, which of
the following is a possible systematic sample
Z° (&) 1,20, 60,80, 100 g

- (B) 14,54,94,134,174 W | 5
- (©) 20,55, 100, 145, 185,&4;@) 4 =
- (D) 5,660,115, 140, 195

56. IfXisarandom variable, E(etX) is knowfn as

" (A) Characteristic Function 9-\'/
(B) Moment Generating Function L™> "~

(C) Cumulant Generating Function 9?\%
(D) Probability Generating Function
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52. Yo PEe whugm § ofw e &l d

46. F w1 A3 #, wh fawd 10 Y@ UR
mélﬁmwmw@nmmfﬁ

e 5/6 % | @ 3@ w1 < Wi e @
6 a8 2@ &0 St e ?

10 10
5 5
= B =
(A) 3(6) (B) 2(6]

10 10
© 3 [?’-] D) 2 [%]

5 T9ag Wite el fdt fgug sea #, 13 2
Twerd 6 arieard FEe: 0-6 3T 0-3 § | A

HTET F41 BT 2
A 1
(©) 3
48. U (u- 30, p + 30) H T AW & ?
(A) T S I 5% &
(B) T §&7 I 95% &
(C) W ¥4 1 99% &
(D) T §29 I 1% &3
49. WA IR X, 3R X, T T THA A
=t § R A e 2 3 4 7, e 13K

28 @ X, - X, A R wmea S T
1Y T B ?

47.

(B) 2
(D) 4

(A) 233 (B) 63 3
(©) 231 D) 631
50. U WTEl §e H, qgﬁg%ﬁ?ﬁﬂanthzi
ar et o &R 2 prgt
|of‘1
@A) 2 ®) 3 1o
©) 6 (D) 12 Ly

5107 %% 50 8 & 3y AT =uRs H T TH AW B
et B I T8 a W Wifkehdr 001125 # |
W 12 =fe § @ FAAHA 11 Al A
SRS SR a% Ugd ST geeht S
ot & 2 ¢

—F
q/
(B) e135(1-135)

L7

(A) e0°135(0-135)

(C) e-0135(1-135) (D) e135(1-135)

53.

54.

55.

56.

|

;l"'—"_

st faaa & st gt 2
(A) =2H Heaug § A F B

(B) 220 HEA9E ¥ i A &

(C) =ew " foeed 8§ ST w1 # J
(D) =ew ure faser 8 i fus 2
fpdt wE N 9 WA W sfar W R | W™
qfos SRR & AT F gE 4 A
FEET % fAU g T @ | 9 T SE %
st & g Fuifa gm 2

(A) wafa gfoest

®) as sgafeym sfted

(©) T=B ufted

(D) uTE Ao heraxl

aferg  dfaest, dhewmw & o w@
s ulted & fem fufy 4 ofts wiege
I 2

g
[vasy

s? . gmfy wea &)
@ 85, >8°

. sqafey wited # areg i

% @A
'/;f

2
®) S5, <8

© 85, <s

1)) nS P 1) 82

@gﬁﬁ;ﬁzooqsé |a‘fﬁmﬁ=ﬁ%§aﬁ%
ST 5 1 TN AT Jfegy -8 B ?
(A) 1,20, 60, 80, 100

(B) 14,54,94,134,174 ¢ |

(C) 20, 55,100, 145, 185 "Q U e |

(D) 5,860,115, 140, 195 & \
|

7R X Fgfe®s = ¥, @ EEX) ® T FE,
ST 2 S (1 |
(A) SIfEEe Hed .
(B) TEVI-SFh e f&g\’ Y

() E=Hi-SFH BT y

(D) TIfeRal-SHS Hed
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57.

58.

59.

60

61.

The nu:ﬁber of all possible samples of size two
from a population of 4 units using simple
random sampling with replacement is

(A) 2 (B) 4 -

(C) 8 (D) 12

Maximum likelihood estimator of parameter 8
of a population having density function

f(x,(-])=e£2 6-x) 0<x<B

for a sample of unit size is

(A) x (B) 2x
© X Rl Zx
X 3

To conduct a survey of long-distance calling
patterns, a researcher opens a telephone book
to a random page, closes his eyes, puts his
finger down on the page and then reads off
the next 50 names. Which of the following are
true statements ?

1: The survey incorporates chance.

II: The procedure results in a simple
random sample.

IIT: The procedure could easily result in
selection bias.

(A) IandII (B) IandIII

(C) II andIII (D) LIIandIII

Choice of sample size depends on
(A) the size of the population
the objectives of the research

C) the number of interviewers available to
achieve the sample size

; All of the above

The sampling technique in which each and
every item of the universe has the same
probability of being included in the sample is
called

(A) Simple random sampling

(B) Systematic sampling

(C) Area sampling

(D) Quota sampling

65.

A sample of 900 members has a mean 3-4 em

and s.d. 2:61 cm. If the population is normal
and its mean is unknown, the 95% confidence
limits of true mean are

(A) 3-6027, 3-1973
(B) 3-5705, 3-2295

(C) 36245, 3:17554
(D) None of the above

For a 2 x 2 contingency table given as follows

6 4

3 5
the value of the xz-statistic is
@ = (B) %
(C) % (D) %1_

A random sample X, X,, Xg, X, X5 of size 5
is drawn from a normal population with
unknown mean W. Consider the following
estimators of p :
5 X, +X, +X, + X, + X
= 5
X +X 2X +X
T2= -1 "2 +X3 and T3= gl 2
2 3
Which estimator is the best among T4, Ty and
Tg? 1
A) T,
(C) Tg

(B) Ty
(D) All of the above

Let x4, x5, ..., X, be a random sample drawn

on X which takes values 0 and 1 with
respective probabilities 6 and (1 — 6). Then

1 . =1

E& is an unbiased estimator of
nin-1)

(A) 8(8-1) ®B) 6°

©) 1-0? (D) None of these

BY 2013/Page 12.
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57.

58.

59,

60.

61.

i & fom @@ % Sfdaa &1
TR A B 4 IS hl TAEEAT R A|Y 2 H
oft gvg widewr 6 @@ w= gt 2

Aa) 2 (B) 4

©) 8 (D) 12

afie sy ¥ whed % e g wem

f(x,0)= —22- @®-x) 0<x<b
)
areft gufe & Suedfler o w1 2iftresan . Fwifeaan

IATheAsh T8 ?
(A) x (B) 2x
1 2
© = @ x
FE Fid FH & T F qag0 FH H o,

Th IEYFHAl SBH-gF F AGHH I8

Ged 3 3R A ATE ¥g e I8 WA

M@m%aﬂxwﬁﬁmmsomﬁaﬁ

At | Feffm i e snd s ad 2

I: wHago § g9 ke § |

I1: 3§ 9GRAT &1 9RO Wi Agfoes gfved
2

II1 : 39 ST &1 SRome e 8 seonfief
& T 8 |

(A) 13RI (B) I3 III

(C) II3fk mr (D) 1,113 I

gftgst g 1 =99 g st s 8 2

(A) | (SFEEET) Y

(B) IIHIH % I

(C) widesl 3 W A &% foTT TaedR 5
fore Iuersy =aferat it @@

(D) 39w |+t

30 gfdea ToIs HI = HE Al g feed

fava <t v Twg i vfvest § wifte 27 &

HHH WIfRar & 2

(A) WS Fgfoas ufeeam

(B) ety gfe=ea=

(C) & gfe==m

(D) =hier gfeereA

62.

65.

900 Tz * Ufdey & AT 3.4 ¢m 3R AES
e 261 cm 8 | IR Wi wmmr § ek
3WH U IFE 8, af I wey H 95%
fovarerar dmmd &= &Y 2

(A) 36027, 3-1973

(B) 3-5705, 3-2295

(C) 3-6245, 3-17554

(D) 394 F ¥ HIE TE
FrafafEa 2 x 2 e grf

6 4

3 5
% o 2-feestst =1 o= @ g 2
@ = ® =
© = ® =

TG WIS p STl AHET GHIE ¥ WY 5 6
Igfees gfed X,, X,, Xg, X, X, R S
2 | p & F=fafaa sneees o fomm =t
_X1+X2+X3+X4+X5
2N 5
=X1+X
2 2
T,, Ty 3 T, # & HIITH TeheTs 91 8 2
@A T (B) T,
©) T; (D) 3wy @+t

Wﬁﬂﬁﬂxl,xe...,xn'ﬂﬁ%ﬁmﬁﬁx

g fam mn R w99 0 3R 1 w1 wEw
yrfreranatt 0 3R (1-0)F Ty eRm w8 | @Y

Zx, Zx, -1 8 R 29
n(n 1

2X. +X
2 +Xg M Tyg= —2——2

(B) 67
(D) ¥ & +rg TE

(A) 8(B6-1)
(C) (1-0)°
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66. For a two-way classified data, ash contents | T2. In a one-way classified data an unbiased

were studied for three varieties coal estimator of error variance i8
analysed by four chemists. Then the de A) MSB (B) TSS
of freedom for different sum of squ es in the (C) MSE (D) SSB
ANOVA table are L The value Ott: ge s:lason igx ressed acgls a
: percentage O e value of the preceding
@ 2,3,7,12 ®) 2,3,6,11 Season (season refers to tyme period) is called
(C) 31 4s 61 12 (D) Sa 4! 6: 11 (,A)' Chﬂiﬂ relative ) Linkrelative
¢7. In a two-way classified data, which of the (C) Seasonal index (D) None of the above
following statements is true ? ' 74. Which is the correct option given below based
GSE* : Restricted error sum of squares 1:; tt;l: method of semi-averages applied to the
under Hy N
SSE Unrestricted error sum of squares Bank Bank
; Year | Clearance Year | Clearance
(A) SSE* is always greater than or equal to (Z crores) (T crores)
SSE ‘
_ 1992 53 1997 94
(B) SSE*is equal to SSE
o) SSEVis el 6o i altoS@‘ - 1993 79 1998 105
© is always less than or equ E 1994 76 1999 o
(D) SSE*is strictly less than SSE
1995 66 2000 IR
8. In a one-way classified data the total number
of observations is 30 and the degrees of 1996 | - 94 2001 104
freedom for error is 25. The number of (A) 53,104 (B) 736,938
treatments is (C) 76,87 (D) 66,105
(A) 5 (B) 6 Assumptions basic to analysis of variance are
(C) 4 (D) 24 (A) the variable oonsﬂildered f;lh}ow normal
p ] distribution Wi in e set of
9. If T is the M.LE. for 6 then which of combinations

following statement(s) is(are) true ?
(A) Tis consistent for 6

@) T2is MLE. of 6
(C) Tisa function of gufficient statistic
(D) All of the above

70. If a statistic ‘¥ follows student’s T
distribution with ‘0’ d.f. then t follows

(A) y’-distribution with (= 1) df.

(B) Snedecor’s F-distribution with (1,n) d.f.
(C) Snedecor’s F-distribution with (n, 1) d.f
(D) y2-distribution with n d.f

71. In a two-way fixed effects model each
variance ratio is computed using
(A) same error variance M.S.E. origin
(B) two error variances M.SE.and MS) B (C) unaffected by change in origin and scale
(C) same error variance MSa x B

(B) the several populations gampled have
the same standard deviation

(Cy the treatment effects are additive
All of the above

76. The variance ratio (F) should be calculated
if _

r

(Si — Mean square due to factor,

bs: — Mean square due to error)
@ s:<s, ® S >8,
© S: - Sz > Si (D) None of the above

Value of the variance ratio () remains
A unaffected by change in origin but not in

scale
(B) maﬂected by change in scale but not in

(D) affected by change in origin and
(D) same error variance M.S.A. gets] both y gin
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66. fouu =figa sfwel & forg, A H
frait § W o7y 1 favewn w3 F fo

AT 3 eE | @ v fevem Eé)hl‘gg (B) TSS
(ANOVA) Treft & ant % faftm am & ) (D) SSB
mﬁm%aﬁﬁﬁwﬁrﬁ? L 78. @%ﬁ (*@g Hﬁfi{lﬂ%wmﬁ)%
(A 23,712 (B) 2,8,6,11 aH &g § Afered Uk w5

©) 3,4,6,12 (D) 3,4,6,11 (A) TEE IS (B) AR (7 &S
67. fouw wfiga atwel # fmfafed 4 & A : ;% ﬁ@ﬁfﬂ Wm (g)gﬂgqﬁﬁ?ﬁé%
FI7 : 4 b il
%Eﬁﬂiémuﬁaﬁagﬁaﬁq}n maﬁ?-ﬁmmﬁl%m%mq{
: fepTet T 8 2
SSE : eTufosfia Ffe =t am =g F=
(A) SSE* ®RWT SSE ¥ IR ¥ - IEH ELl (s = ) EL (mi ';“'%“)
O B :
(B) SSE* SSE % ¥ 1992 53 1997 94
(C) SSE*ghem SSE ﬁ;ﬁﬂ %;n I I B 1222 Zg 1322 1;)75
(D) SSE*quicl SSE ¥ 1995 66 2000 79
g8. UHHTI afiga e & Yevil I Fe T 30 1996 94 2001 104
i IR T $ wifaft 25 € | TR A (A) 53,104 (B) 736,938
e forat grft 2 (C) 176,87 (D) 66,105
@A) 5 B) 6 75. SO TR % AU W % STER F g 2

A) FrEm R T S EEeE F IR W %

©) 4 (D) 24 Shet T S 1 S T
9. AR T, 0% fC MLE. 2, @t Frfefes & & ®) Tftm wfeha mfE & @w @6
$H-A1/A 9 T B/3 ? e & -
(A) T,0 % frg & e IR S A W
(B) T2 02 MLE.? 76. TE AT (F) 1 ke Faw fha feufa
(C) T FaTH Sfaesisl 1 %ed 8 # foran s =R 2
(D) g Th | afg
70. af2 F wiiees ¢ R % ¢ 9o w1 SgmE (S =TT  HTT WA
w d.f % |y ¥, @ 2 Femer agmh 2 2 s? =3f % o Aren =)
b
Do ol | &4t lRRc
©) (o, 1) df F a9 SR F FAA © 8} -5;>8; “%:qﬁ?“ﬁﬁ;f“ﬁ
D) ndfF ad (2 |77, e SO (F) 1 A @ FeRR T B 2
71. figw fOR T9E 9@ Hisd d YIS N % &) Wun i [ﬁ“ :ﬂﬁaﬂnﬁqﬂ ‘QII g # o & g
St 7 i . &ﬂﬂﬁ'ﬁ“ﬁ%w # o & g
AV BT e S MLS.E. (©) W@ﬁmﬁggﬁﬁqﬁaﬁq@ﬁm
(B) 2 I TR M.S.E. 3R MS, , 5 i 25
(C) FAH I T MS, (D) qeftrg ¥ woE Qe § fed ¥
(D) TH I TEOT M.SA. BRG]
BY 2013/Page 15. SPACE FOR ROUGH WORK / T% %1 % fotg o™




——

RS
. S

; 8
“bé)”g

274 =

! bk
\}é. A second degree parabolic trend curye A six-monﬂ}%wi/ng average forecast is better 19
to production data of a factory manufacturing ' than a three-month moving average forecast 2
air-conditioners be Yt = 34 + 6-28x + if demand o
: . : (A) s rather stable Y
from 1990 to 2000 with origin at 1995, Then ;
the trend value for year 2000 is ' % ﬁas bgen changing due to recent
: proportional effects
(A) 68-72 (B) 694
. (Cf 80-4 (D) 796 (C) follows a downward trend
: (D) follows an upward trend
79. In a time series, which of the following ]
. eannot be predicted ?  ° oA % The fundam?ntz.al difference between cycles
(A) Seasonal fluctuations and seasonality is the
‘!(g) Technological trends {A) duration of repeating patterns
) Random f_‘iuctuations (B!} magnitude of variation
(D) Increase in demand o (C) ability to attribute the pattern to a cause
.  Which of the following is not present in the ‘91) All of the above
: e
Smeset ! A recent epidemic in a major Canadian city
(A) Seasonality ~ (B) Trend |/ tesulted in a substantial decline in the
(C) Cycles ) Operation variation | tourism industry. This type of variation is
81. Which time series model uses past forecasts called 4
and past demand data to generate a new| {A) Regular movement
forecast ? o {B)/ Cyclic movement
(A) Mo?mg il - = Irregular movement
(B) Weighted moving averages e
(C) Exponential smoothing ., ) BEal M0Vt
(D) None of the abeve 88. Given the numbers 2,6, 1,5, 3, 7 and 2. If the
2. Given an actual demand of 61, a previous weights used are 1, 4 and 1, then weighted
forecast of 58 and an o of 0-3. What would be erages of order 3 are given by
the forecast for the next period by using -5, 6:5, 1-5, 3:5, 76
simple exponential smoothing ? ) 4.8,3,7,5
(A) 455 (B) 571 (C) 8,3,7,59
(C) 589 (D) 61:0 (D) 45,25,40,40,55
83. ) The ai:%rclic:_l co::gongnt of time-series data is |9 For a nine-year moving average, how many .
Eiu lifies T uniLE N9 fewer moving average values will there be at
moi;‘;;esirr :::;:n T the beginning and end of the series ?
£ - - —
(C) exponential smoothing % at the beg?nn%ng and 4 at the end :-‘>
(D) qualitative methods @) 4 at the beginning and 5 attheend .7
Which of the following statements about time (E) :at x begmnmg ang X o tll.lle eng ? A
series forecasting is true ? S (D) 5 at the beginning and 4 at the en ~—
(A) It is based on the assumption that future( \93 The following trend line equation was/
demand will be same as past demand developed for annual sales from 1995 to 2001
(B) It makes extensive use of data collected with 1995 = 1. ‘
in the qualitative approach Y =5714 +2-143 X _(in milli
(C) The analysis of past demand helps o=t p L aiions).
predict future demand In which year were the sales predicted to be S
; 2,713 ?
y Because it accounts for trends, cycles —{ese ;
and seasonal patterns, it is more (A) (B) ~2003 U
powerful than casual forecasting (C) 2002 ~ ) 2005 S
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T8,

79.

80.

81.

82.

83.

84.

L

pr.l\\\”\
L 35}3{0) et F 1 TS & I A

el 1 R w0 el o Saed %
mmﬁﬁmﬁﬁm@ﬂwﬁaﬁ
T 1990 ¥ 2000 % fore fred Aeferg 1995
%Yt=34+6-28x+0~60x2 %, @ = 2000 %
for SuAfa Wi & B 2
(A) 6872 (B) 694
(C) 804 (D) 796
e doft § Erefafgs § & e wfarsrami
7gT 5 =l ?
(A) TeH ISR
(B) SrenfiEhr sl
(C) drgfees SAR-FE™

(D) HiH
Wﬁvﬁ%ﬁ%wﬁsﬁaﬁ

BT 2
(A) TGSl

(C) =

frg e Suf Aies ¥ IC
fore fisel qaiga HK

(A) TfeHE S

(B) i@ e S

(C) SRETATHIT FEOIhT

(D) 3T H A HIE T

e i awdfes w6l B, & fiee
qg‘igmﬂssafﬂoswa%ia‘rwwaiﬁﬂ

(B) ¥gf

(D) v fa=
T A H
HHT % JATHS

%1 T H gL et Aty % fe |

1 B ? -
(A) 455 (B) 571 =
(C) 589 (D) 61:0 \
FTAS0f ifhRSl H ThIg TTH BT IARHOA
AT Ee! ST e TR ST @ 200

85.

87.

89.

90.

fpa SHR @1 At A W @ W % iiEe
sftge @i # SoTg B AR H M
sffea qaiqae 8w &1 7 ?

A) INEFd B

B) T % AR T % FRO TG G
© e g &

(D) SufgEt v &

= i Fegfman  qEnE e =R ?

(A) ATt dedi i I

(B) Torror i

(©) et ¥ Forelt SO F T JS A AT FEAT
(D) 3ugw aft

e % T w2 W # w # o el §
s SEm § 9 foae o | 36 YR b

=T Y T HE AT 8 2

() Frafia

(B) =sh Tifd

() AfafE T

(D) Fgs T

= e e 2, 6,1, 5,3, 73 28 1 AR
v T o e WK 1,43 1E, A FA3H
sy R aitea fees g fig 9 & 2

(A) 25,65,15,35,75 ===

(B) 4,8,3,7,5 S\

(Cc) 8,3,7,5,9 _‘—-ﬁ‘
(D) 45,25,40,40,55 ——

o ¥ % nfmm i % fAw TEen F WA

ﬁaﬂ;aﬂaﬁs&ﬁmﬁaﬁnﬁnﬂaﬂmm
)

(A) TS 4 T oid H 4

(B) W H 4 @A 5

©) N9 AL IFEHO

(D) ey § 5 3T T | 4

ArfEs 39t T ais a 1995 9 2001 y

£ e fosht % Tore sl 1 1§ oft et
1995 = 1.

¥ ot o ufysmEnh w0 # e e Yp=5-714+2~143xp(ﬁ1%'qﬁﬁ)%1
ol Eﬁ%wﬁﬁﬁﬁ it s g ded g o 7wt o st 2,71,44,000 8 A 2
3T A & SaR 98 ST (EIgAH (A) 2004 (B) 2003
B arfres wkee Bl 8 (C) 2002 (D) 2005
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9. The relationship between real wages
money wages is given by the formula

(A) Real wages = Cost of living index number 3

and

\9}/ The following gives group index numbers and
corresponding group weights with regards to

= 100 cost of living for a given year. What is the
L Yo value of the overall cost of living index
(B) Real = 1 , ? :
g Cost of ll:fing index number g g;:i};er fo:r th:year .B C D E
(CY' Real wages = = Tages x100 Indexno.: 350 220 230 160 190
Cost of livingindex number [
Weight : 5 | 1 4 2
D) Real = x 100
(D) wages i (4) 220 vig?so N 44
(C) 234 274

92. Frequency distribution of

price relatives 1;

Expressing the given series of index numbers
a8 & percentage of the index number of the

/ found to be ' o time period selected as the new base year is
i ; Q0 s
(A) negatively skewed \% b 4 la Splicing of index number series &
) positively skewed i Base shifting o
(C) symmetric C/ : {C) Deflation of index number series g © .
) None of the above p (D) None of the above a4 0
O i e §
T 9. Geometric mean of Laspeyre’s and Paaschd’s 4
: index numbers is :
Fisher’s ideal index number
- The formula used to convert chain base index \}M y
bers (CBL) into fixe B ind {B) Bowley’s index number
el - A e S Macahal - Edgeworth index number
numbers (F.B.L) is ]
. ; (D) Walsh index number
( Previous year C.BI. x Previous year F.BI. The weighted arithmetic mean of e
100 - relatives  becomes Paasche’s price index
@) Curent yeaNg'B.I. x Current year F.BY/ number for which of the following weights E
= Vs 100 (A) poqo (B) plql g
Current year CB.L x Previous year F.BI. ' - v
@ %0 O rg, ®) pyq, a
(D) Previous year C.B.;Q Current year Fg'lv . Laspeyre’s price index numbers use weights 92 |
/100~ 7. from
(A) current period @ 13 _
«_(B¥ base period (5%
The index numbers which are extremely (€ i
helpful in studying the level of physical (D) future year
S - output in an economy are @ 100. Fisher’s ideal index number formula satisfies
% X (A) Price index numbers I: Factor reversal test
\@. Quantity index numbers cba‘q/ II: Time reversal test
RN ~ (C) Value index numbers / L Ors s
£ | AN (4) Iand 1T (B) 1, IT and III
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';v/)-); ‘Z)é/ - L
‘5\){'\&/)
91, =i awgl R § Wl ¥ e & wrary | 95, ﬁtr%ﬁaaﬁ%&ﬁ_éﬂqaﬁﬁﬁafgm% \
5 fe Fa-a BwR 2 T 8 WS e Gena o smedt T \
B e s Nl W BT ™R | v ad ww et |
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